
M23 (mod 23)

blocks defect matrix

G : 1 1 13× 11
2 0 2301 = χ5, ϕ6

3 0 2531 = χ9, ϕ9

4 0 10351 = χ16, ϕ14

5 0 20241 = χ17, ϕ15

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ7 ϕ8 ϕ10 ϕ11 ϕ12 ϕ13

11 = χ1 1 . . . . . . . . . .
221 = χ2 1 1 . . . . . . . . .
451 = χ3 . . 1 . . . . . . . .
452 = χ4 . . . 1 . . . . . . .
2311 = χ6 . 1 . . 1 . . . . . .
2312 = χ7 . . . . . 1 . . . . .
2313 = χ8 . . . . . . 1 . . . .
7701 = χ10 . . . . 1 . . 1 1 . .
7702 = χ11 . . . . 1 . . 1 1 . .
8961 = χ12 . . . . . . 1 . . . 1
8962 = χ13 . . . . . 1 . . . 1 .
9901 = χ14 . . 1 . . . . 1 . 1 .
9902 = χ15 . . . 1 . . . . 1 . 1

ϕ1 = 11
ϕ2 = 211
ϕ3 = 451
ϕ4 = 452
ϕ5 = 2101
ϕ7 = 2311
ϕ8 = 2312
ϕ10 = 2801
ϕ11 = 2802
ϕ12 = 6651
ϕ13 = 6652


